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Write your name, enrollment numbers, Al name, and subject on the first page of
the answer sheet.

fsfafe eMafer (A (T (FIE @b 2087 Ted M 40-60 XT3 JCY: 2

Answer any one of the following questions in about 40-60 words.

(a)

(b)

ATOTRF GRC AAGOG NP PSR HZY FCF ICET KA A 2T 2

(°15-1 CT3)
How do you think sociology will help people in their day to day life?
(See Lesson-1)

e eifeziefer afers o A T1FS - S Tet H0T e [ |
(SA15-10 CTYT)

“Social processed are related to social introduction”. Justify the statement?
(See Lesson-10)

fAsfEle eMafler (A (T (FIE @b 2087 T M 40-60 XT3 JCY: 2

Answer any one of the following questions in about 40-60 words.

(a)

(b)

7Y Tl @b JAWE afem of Hrss am I Mt SuiRdceR ARy L@

IR W | (A15-10 (T4)
Justify how conflict is a social process, taking the example from your village/
community? (See Lesson-10)
o 532 (AR (T AT (I SR G0 SCP9 Ao effscamfery forg 23 |
AfSTfeR TR wfer q2tef Srizge g IR = | (SA15-10 CTY)

You might have seen that people compete with each other for some reason.
Explain the reasons of competition with appropriate examples.
(See Lesson-10)
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3. RS epiel (A0 (T @I 9 Heie Se e 40-60 XA WY 2
Answer any one of the following questions in about 40-60 words.
(a)  SECAIR FGCFH LIel YT P | (A12-15 (1Y)

Explain the concept of Charismatic Authority.
(See Lesson-15)

(b) RTINS 0o 0ot AR O® 20 - @3 Sfewba Jry w6 |
(5A13-22 (M%)

‘Environment is changing over a period of time’. Justify the statement.
(See Lesson-22)

4. (RS efefer (At (1 @I 9 40 et = 100-150 =0 S0y 4
Answer any one of the following questions in about 100-150 words.
(a) SR I0YF 2SR 3P IR G b AT I &R0 S S (AR |
(*118-9 1)

What kind of mechanism will you suggest for resolving or minimizing the effects
of role conflict? (See Lesson-9)

(b) PO RfeT @ 97 ©Ire I SZAFEO T SERIS 2)3F ©f SHIRIeRIe
R (5110-15 ()

How different types of authorities are distinguished by their respective source of
legitimacy? Describe with examples. (See Lesson-15)

5. fAsfeie emafer (AtF (T I @b At T8 M= 100-150 =T S0y 4

Answer any one of the following questions in about 100-150 words.
() S WO S (SRR 72O LTI e 2 S TSI e |
(A13-11 (T4)

Do you think that "Assimilation is the result of cultural contact"? Comment.
(See Lesson-11)

(b)  RRz dfovmb [fen oo vy Mo sifsqifze 2w - Seem-r s |
(SA15-12 CTYT)

The institution of marriage has undergone many changes. Discuss.
(See Lesson-12)

6. frsferae R ele’ T (T (I @b TAF A org= - 6

Prepare one project of out of the given below:
(a) SR CETRPISIC 40 (AT 60 IRI TN 10 T HZSN A P I 32 [ FSI7 117 3

Rl ey og 9t 2fiiea=l oIt ANEe, SAoF 8 RFFae G AN AT

S ARTON QR i el 192 wifeist I 336 | (A19-35A (W)

Talk to 10 women (40-60 years of age) in your locality, and list out how different
schemes, and programmes through government, and voluntary organization have
brought changes in the educational, social, and economic development over the
years. (See Lesson-35A)
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(b) PR (PR SRES 10 T 2RI A 2 W G2 O S SSR[PHR HCF 2
0T MFoF @A TR 2fO1F U2 O SSR6F @ (FSIMBT ASR FTICF G

% | 93 ISR fofare ualh 2fsrva owe w5 |

(A13-35B (T4)
Visit any 10 families in your locality, and ask the parents about the positive and
negative impact of television on culture. Based on the discussion with parents,
prepare a report. (See Lesson-35B)
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Write your name enrollment numbers, Al name, and subject on the top of the
first page of the answer sheet.

1. RS eef (At 7 I 9ol 20 Tad e 40-60 *0e Cy: 2
Answer any one of the following questions in about 40-60 words:
a) AW (FIAT [TSCGT LA, LB G2 £C (19 @feT ST 29O AT @32 a, b, ¢ IAPCT
LA, LB £C FF foqibe Rede a2ee jbe s o %sinZC + gsinZA
BT I el d51 | (A12-3 (L)

If the £ A, «B and 2C of a triangle are in an arithmetic progression, and if a, b

and ¢ denote the lengths of the sides opposite to £ A, £B and £C respectively.

Then, find the value of the expression %SinZC + EsinZA. (See Lesson-3)
b) (P TRIZ [Toced afol ag [Teres (Pre ShFe @b [N @3 At 60° (P ¢!

@ AT @3 Tl h FER | I [TSied (I A28 T a 2T, ©W@ a @32 h &3
AP I ol e | (A19-4 ()

Each side of an equilateral triangle subtends an angle of 60 at the top of a tower
of height h meter located at the centre of the triangle. If ‘a’ is the length of side of
the triangle, then establish the relation between ‘a’ and ‘h’. (See Lesson-4)

2. el eeef (A0 (I I 93 s Ted M 40-60 X0 WY 2
Answer any one of the following questions in about 40-60 words:
a)  x2-2x+A=0 FAFACHE A& 46 BCEA p, q 932 x2 - 18 x + B = 0 TP e a5
2@l s | IWMp, g1, s (p<q<r<s) TAET 2MSTS AT I A @92 B &7 F el
5 | (AA15-6 (T4 )
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Given that p and q are roots of the equation x> —2x + A =0 and r and s be roots
of the equation x> — 18 x + B=0. If p<q <r <s and are in A.P. Then find A and
B (See Lesson-6)

b) G FICT 100 & AR [0 55 T AT @2 67 & AMLRATT TG 20CR | IW

(I AR SRpGIef Ff 2 OIRCeT Wy MR FoeH 541 FACR ©f A12d 336 |
(5181 CTYFT)

In a class of 100 students, 55 students have passed in Mathematics, and 67

students have passed in Physics. If no student fails, then identify the number of
students passed in Physics only. (See Lesson-1)

3. fysfeiae eMel (At (T @A @b 28R T8 T 40-60 =9 N0y 2

Answer any one of the following questions in about 40-60 words:
a) M a, b, ¢ ITNBT oIMOCT AF IR x =Y % a”, y =22, b™, 2 =32, c" 2T O

X, y, Z 93 NP 74 el T |

(5110-7 (W)
Ifa,b,cin AP. and x =) 5 oa™, y =Yg b™, z =)m=o c™ then find the relation
between x, y and z. (See Lesson-7)
b) I CCF TG A AP 101'90- | (F Sl T O A 74 |
(1212 (TZ)
Calculate the greatest integer which divides 101'%° — 1. (See Lesson-12)
4. FEFERS sel (A0F @I 93 2eis $ed M 100-150 A 30y 4

Answer any one of the following questions in about 100-150 words:

a) 'EQUATION' *t%d 3 & m73+f @ 2 © gl (s Fowfer 5 orwg [if# 8 =<1 (o a1
T (I b FER GFACL AP ©F el T |
(A12-11 (1)

How many five-letter words containing 3 vowels and 2 consonants can be formed
using the letters of the word 'EQUATION' so that the two consonants occur
together? (See Lesson-11)

b) TG MR x2+bx+e=0 ga® ATFel B AT FIeT | @G TG b @7 W T A

FAFRED TN FCF 2 @2 5 NS ¢ofe | TGO il ¢ @3 1 ot e AN oI
T -3 932 -4 G (2feT | IR FANPANH AP Aeresfet o1y | (5A15-9 (W)

Two students solve a quadratic equation x>+bx+c = 0. One student solves the
equation by taking wrong value of b and gets the roots as 2 and 5, while second
student solves it by taking wrong value of ¢ and gets the roots as — 3 and — 4. Find
the correct roots of the equation. (See Lesson-9)

5. fAsfeie emafer (AtF (T I @b At T8 M= 100-150 =T S0y 4

Answer any one of the following questions in about 100-150 words.

Session 2022-23(Mathematics 311) Page -2



1+a , 1+a+a? 14+a+a?+as
a) 1+T+ ” + " s 000 00 ses aus

BT et Nef e (P15-9 CTT)

Find the sum of the series
1+a 14+a+a? 14+a+a?+ad

1+ 2! * 3! * 4!

(See Lesson-10)
b) (P ¥R 9 IR AR T2 G FAT] ICF RIS O @fer 2T (9= 40%

ARRIT A SIM=Hg A |
i 20% °ifE<E B WG AT |
. 10% = C Mg A0y |
iii. 5% “ARRF MG A 992 B T3 ACE |
iv. 3% SRR ARAMAT B €32 C TOT3 AT |
v. 4% iR TIMHAT A @R C TOT2 AT |
vi. 2% AR RN Teameras ow |

TAEE O G B (T 97 AARRIT By 7IMT A AT O 7Y o4 |
(A12-1, 2 (TZ)

A survey was conducted in 1000 families of a city, from which the following
information was obtained.

1. 40% of families read newspaper A.
it.  20% of families read newspaper B.
iii.  10% of families read newspaper C.
iv. 5% of families study both newspaper A and newspaper B.
v. 3% of families study both newspaper B and newspaper C.
vi. 4% of families study newspaper A and newspaper C.
vii. 2% of the families read all the three newspapers.

On the basis of the above information, identify the number of families who read
only newspaper A. (See Lesson-1, 2)

6.  [HC6S BT ST NCP (AP (T (FH G &g Cofd 1| 6

Prepare any one of the project out of two given below.

a) 93 F(ER 20 2T 10 & =G SHAFS FcMRer | 2 I ~= 20el 20 |
AMFIRNIT (AT AN T 7247 T 27 | W00 AfSTT (it o ol e BreeRiow
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b)

3 foet | Pmae ([ew 2afee (7 ool oo orw aey 2fsh et 6 99 @
(78T 2 | TOICFER 2739 @32 REIfo W3 N Qo 36 | (A12-17 CT4)

10 students appeared in a unit test of a school. The maximum marks of the test
were 20. Collect the marks obtained by the students. On perusal of the mark sheet,
it was found that one question was out of syllabus. It was decided that 5 bonus
marks would be given to each student for each wrong question. Compare the
variance and standard deviation in both the cases. (See Lesson-17)

SRS ICEICTCETSIE 5T =@l @ 0ot | =@l @b 9 ey Siemm eyt et veeT |
fAsfeie whatefom TeRAT T T -

i =@ ob b 7R e Tglefey e 4 |
ii. =@l ob b 7 e MyrafEg e g |
iii. 2@l &b vl 7R e AegrefEE ceee 12 |
iv. =@l b qib gl emffe Meyrefn e 4 efios |
v. 2@l b b gl emie setelem carereet SR Ty
vi. =@l @b i g e egiefers caterret Cfere 29|

(A19-18, 19 (AL)

Puneet tosses two dice randomly. The number appearing on the faces of both the
dice are different. Calculate the probability of the following event if -
1. The sum of the numbers on the dice is 4.

1. The sum of the numbers on the dice is 8.

1ii.
1v.

V.
Vi.

The sum of the numbers on the dice is 12.
The sum of the numbers on the dice is a multiple of 4.
The sum of the numbers on the dice is an odd number.
The sum of the numbers on the dice is a prime number.
(See Lesson-18, 19)
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Write your name enrollment numbers, Al name, and subject on the top of the first page
of the answer sheet.

1. =fofe exafe (rF @ @I a3 940w ©6d M 40-60 *T3F N0 2

Answer any one of the following questions in about 40-60 words.

a) (OO I IR CGS RO I 26 B3 @ S 2FOC® ©I2f (WEGH, I 43 13 9% GfeTd
AT AR T4 B1o4w w6 | (A10-1 (L)

In the CGS system force is expressed in dyne, and in SI system is expressed in newtons.
Establish the relation between the units of these two systems of force. (See Lesson-1)

b) [ TAT G 9 297 1.36 x 10° W m2 | 3 971 5 (0F 1.52 AU G0 0EF SR

BB 37 7 J2 ST T S G P A ofy e | (A19-12 CT3)
Solar constant on earth is 1.36 x 10> W m2. If Mars is at a distance of 1.52 AU from the
sun, calculate the solar constant on Mars applying Stefan’s Law. (See Lesson-12)

2. [HlERS el (A (I I 9B 2T Sod e 40-60 =05 0y 2

Answer any one of the following questions in about 40-60 words.

a) (I GG J&F FeR 2O 7 S ea T @b SN (GRIER 877 nifGry iR @2
(ORI 47 F9fSTs (TR 200% | 72 fofd frers 2rowfer e cd e BIti o3 o

(IeF Ao ARG 27 | Sroo! IR (VN #AfRS 27 ©F Jgt %60 | (FIfele el
fFeIR 7e7fFe AR 2 (157 (TZ)

A person is standing on a turn table with some heavy weight in his hands and the table is
rotated slowly. When he pulls his hands towards his chest, his angular momentum

Page-1
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changes. Explain the change in the value of moment of inertia. How is angular
momentum conserved? (See Lesson-7)

b) @9l AIERET o @few (959 297 31 + [ + 2k @92 i — 3] + 4k | ISl B Cwawe
ey e | (A13-2 (L)
The diagonal of a parallelogram are given by the vectors 3% + j + 2k and { — 3] + 4k.
Find the area of the parallelogram. (See Lesson-2)
3. (NS @ (At ORIt 9 0 Ted 1w 40-60 *CAS N 2

Answer any one of the following questions in about 40-60 words.

a)  0.50 G T3 @& (1= 7C ¢ 1.2 FOR o1 93 O 1 b Gl LTS 0T SE b

b)

B A& 41 2CAC2 | (129 76 Bxr 93 &A@ 80°C @ 7141 200 2 I T w7t
2 0°C @ T 2CACZ & @ AT G BT (02, TS ARgLH S1of fA g cren

20 TS O A (79 200 AT | 9 702 ISR 992 2F0REE I 2 0.16 FHE | o
APITET 1Y TC ST ALCAFLT O T, | O ARRRCAT 2098 T, ST ST | (121 O
RIS 281 75 WmIK-! 932 O O #1f541f2or 261 390 Wm'K-! | (A13-11 CTL)

An iron bar 0.50 m long and a copper bar 1.2m long are joined end to end. One end of the
iron bar is kept at 80°C while the far end of the copper bar is maintained at 0°C by a
mixture of ice and water. The outer surface of the bar is logged so that there are no
thermal losses. Both bars are of circular cross section diameter 0.16m. At thermal
equilibrium the temperature at the junction of the metal T;. Calculate T; and rate of
energy flow. Thermal conductivity of Iron is 75 Wm'K™! and Thermal conductivity of
copper is 390 Wm™'K"!, (See Lesson-11)

97 AT 9 CFCoR 50 RIGR Tpre ST f2a | (o7 o B Hbte @3 39 (0o
CoATH 9.8 m/s? 39 T TFF SR qitst et -

1) GRS (7RdE B3 ice ARG s I et of ey w6 |

2) GRS (FRITS O FO6T 71 (FCAIReT 2 (A19-2, 3 (W)

A hawk is hovering above a field at a height of 50 meter. It sees a mouse directly below
it, and dives vertically with an acceleration of 9.8 m/s>.

Page -2
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1) At what speed will it be travelling just before it reaches the ground?

2) How long does it take to reach the ground? (See Lesson-2, 3)

fsfEfe eMafer (A (T (FIE @b 2087 T M 40-60 T3 JCY: 4

Answer any one of the following questions in about 40- 60 words.

a) 93 IF ARACT 1.5 FHRF THO! T FAFICS M | S Swot 36T F76 T 13 I
SIFICS T I G G5 &t I g 2ffR[N GCge 9F bgeiedT @2 A PP AR
JFAICER 9 QO | (1135 (T4

A man can jump 1.5 m high on the earth. Calculate the approximate height he might be
able to jump on a planet whose density is one quarter that of the earth, and whose radius
is one third of the earth radius. (See Lesson-5)

b) 9D SCOIGIRICER G (5 OF F1 AT 120 KN IS ICF | SOSIRITE ©F 40 5
R, AT T3 -

1) 3f&= giat Tesig g1
2) I (5 &F FIG T A S 60 ms! 2, O (5F T PG & TSR o
SR 7Y
(AA12-4 (ML)

The engine of an airplane exerts a force of 120KN during takeoff. The mass of the

airplane is 40 tonnes. Calculate

1) The acceleration produced by the engine.

2) The minimum length of the runway needed if the speed required for takeoff is 60 ms™!
(See Lesson-4)

fsfeiee eMel (At (T @A @b 2R Teg T 40-60 =19 N0y 4

Answer any one of the following questions in about 40-60 words.

a)y [EERS ANE JI2E I
oIfS = FI% x O U<y

1) 93 TI1% wfeg i (S8 Brolyices 9w (rd oot 35 |

a)200kHz b) 1 MHz

2) 93 3% 0y BT AL (IS Holgices F1= ol I3 |
2)200m  b) 10 mm (A19-13 (1)

Using the equation

Page -3
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Speed = frequency X wavelength
1) Calculate the wavelength of the radio signal with these frequencies
a) 200 kHz b) 1 MHz
2) Calculate the frequency of radio signal with these wavelength
a) 200 m b) 10 mm (See Lesson-13)

b) T oAl FUAICSH A 2T I (QITT 3 ©X 2T S [BH HARKST 207 A | 4
MG (A FICO N G AR Rl [eeforo a1 aafeibos ey cive GG
fEe3ce 59 b (rex ity EFfS wfem g T -

a) SIf63 TR
b) SREF GG
¢) NGCEbS
d) SFaF @fPErRE (AA12-30 (M%)
When the information signal is combined with the carrier wave the amplitude of the
carrier signal is altered. Fig shows the block diagram for a simple amplitude modulated
radio transmitter designed to transmit sound signals. Explain the function of
A) Audio amplifier
B) RF oscillator
C) Modulator
D) RF amplifier
(See Lesson 30)
receiver
Uansmnner 1\ ' ‘ aerial
LAY
1 Audo L\\
ampiter
3 4 fF
2 RF Modulator amplifier
oscillator
6. [T AFCH AY (AF (T (N IFH &7 (O T - 6

Perform any one of the two projects given below.

a)

g (AR SHIFF T G GD SR IF T AP (FH T4 G SHA K1

AfSRE (rUrw el I | (T SR a7 [ TR el (e 27 W6 /s
3O pels 2fofm 7RI (b1Y TR (I (0 YT S[ES I 7R SRAT (I ST
741 T2 p OIS AT 6 75 TO2 {8 W {( -Prow 0y W4Ee, 92 Oitd M e fofee

o7 | siffsFei@ @b ol (I 2E —

Page -4
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M= B/o. =m, X M (T M 2T [T 553001, m, 267 SSeTs5y (o757 g1 ST i @92
Mo 2 TS (o151 71 TAT KRG <71 T% @b (oI SRR T A4 ST (1714
CFIFPT Cay 2.0 GV 92 QST (0 (FIFPT CHelf 6,25 G 32 SICHe TYFI 495 15

oA

LSS (A0F G A9 N9 @ M@ eee IS pols 2SR =8 maiiae o 13y
5w 23,
I G ST (A FOBT ACY T (1) 30 Sl S w1t I
[ SRR ACE RRE o] (ol T, S@© (8 7*iq @3 (F (g
V. (ol SeErFe TR Sfeers 7Rl ofde srsde! aifsim wfet Sray a5
V. (TR SR e R el S T ST T

(511523 (1Y)

A Compound microscope is an optical instrument used to view highly magnified images
of small objects. The magnifying power of a Compound microscope is defined as the
ratio of the angle subtended by the final image at the eye to the angle subtended by the
object at the eye. When both the final image and the object are located at the minimum
distance of distinct vision from the eye, it is denoted by M. Mathematically it can be
written as :

M= B/a =m, X m, where M is magnifying power, me is the magnification produced by
the eye lens and m, is the magnification produced by the objective lens. Consider a
Compound microscope consisting of an objective lens of focal length 2.0 cm and an
eyepiece of focal length 6.25 cm separated by a distance of 15 cm.

(1)  Identify the distance of the object to the eye piece, so that the final image is formed
at the least distance of clear vision,

(i) How far should the object be placed from the objective to achieve the position
described in part (1)?

(ii1) Calculate the magnifying power of the microscope, at least in the case of distinct
vision?

(iv) State the intermediate image formed by the objective of a compound microscope.
(v) The magnifying power of a compound microscope can be increased with.
(See Lesson-23)
b) 30 G o @3 Feie e 6% Feiz ax eoitas oieeil (o o fefen e STege i 201 @
TS e G ATER AT CSTeT JCE AT WHE ©F (Rl G ABTF To SiR el (e

oo | Poe B 5 (A (BT (20T (MST 267 TS (61 OF A SREIR AT T2 e (e
3@ | IR 2MFD TTSIE@ (T 9 BF FIE
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R €S 7191 @3 (AT (T I TRETFIE ol I | G319 OFh (T2 ©F A Ity
SIE (T 391 2 | A2 2T (AF (e I [T T | o7 SR FoeTd oFf
IR2R PR @RIba R e w564 | (19-13 (TZ)

Take a spring of length 30 cm. Attach the upper end of this spring to a rigid base and
attach a pan to the lower end which has some fixed mass. Now let it hang vertically. Pull
and release the spring by 5 cm so that it oscillates up and down relative to its equilibrium
position. Now the pan starts oscillating in the vertical direction.

Find the time period of the oscillations and the time of oscillation by using stop watch.
Now put a weight of iron on the pan and make it oscillate. Calculate the time of
oscillation from the observations. Calculate the weight of that iron using the data
obtained from your observations. (See Lesson-13)

Page -6
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@ (i) T8 S0ad Ted (NeT IFOTETP | NG A Gy A 77 2T 10 (183 AR |

Note: All questions are compulsory. The Marks allotted for each question are given
beside the questions.

(il) T@F PG LA BT SN TN, GRS F7, B OFBI @92 [RFea W
Gl 5 |

Write your name, enrolment numbers, Al name, and subject on the first page
of the answer sheet.

1. =fofe exefe (2 @ @I a3 9408w ©ed M 40-60 *IT3F WY 2

Answer any one out of the following questions in about 40-50 words.
(a) T (N0 P T GO 2T SRES | 327 AR 0% 5 b 305 SR | 302

TR XN for3 | 321 T YA SERHCAR SR, Y SERHCR YT B |
(AA15-3 (L)

The element in question is present in the third period of the p-block. It has 5
electrons in its outermost shell. Predict its group. How many unpaired electrons does

it have. State the number of unpaired electrons. (See Lesson-3)
(b) @B (TR AP 2V I TR GHEE S S R @B (TR AP Wi 33
TR AP S SR, T2 Ne ANSCEIG T | (A19-3 (L)
Provide the formula for one compound that is positively charged and one that is
negatively charged that is isoelectronic with Ne. (See Lesson-3)
2. [ElERS el (A (I I 9B 2ees Sod e 40-60 =05 0y 2

Answer any one out of the following questions in about 40-50 words.

(a) e (FHRRE Oita e TFo SREC AT -
(i) R I
(ii) (M2 (AP TSI
(iii) *DCFUAT TP (SA15-6 CTY)
Arrange the following lattices in the order of highest packing efficiency
(i)  Simple cubic
(i1)) Body-centered cubic and
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(iii) Hexagonal close-packed (See Lesson-6)

(b) CoF SRR (e a5 ;
(i) Ge ff&r®/ In 3t o1l
(ii) B fifErey Si 3t (et (A13-6 (TL)

Classify each of the following semiconductors as p-type or n-type:
(1) Ge mixed/doped with In.
(i1) B mixed/doped with Si. (See Lesson-6)

3. fAeffe emafe (Ate (@ FIE @b 2089 Tl e 40-60 *T3E JCY: 2

Answer any one out of the following questions in about 40-50 words.

(a) [eva [RERID T3pRrgR A0 23R K, @3 F Wl Fet:
(A12-11 CTZ)
250,(g) + 0,(g) == 2505(g)
Given: [SO,] = 0.6 M; [O,] = 0.82 M; and [SO;] = 1.90 M

If the following reaction is in equilibrium, define the value of K.
(See Lesson-11)

250,(3) + O,(8) == 2504(g)
Given: [SO,] = 0.6 M; [O,] = 0.82 M; and [SO;] = 1.90 M

(b) A I G T (L 7T K% ©e @ Il (F ST F1 23 - JYfT I

(A12-11 CTY)
Pure liquids and solids can be ignored while writing the value of equilibrium
constant, Explain. (See Lesson-11)
4. RS dmefii (A (I @I 9B h 20 ©ed e 100-150 A M0Y: 4
Answer any one out of the following questions in about 100-150 words.
(a)  TNCEd S GeAraicas g3 6T 5ot | (AA15-32 (T4)
Describe tropospheric pollution in your own words. (See Lesson-32)

(b) FRA-TIE-SFHPT PR (5CT FRA-NHFNIC P @ [omeae -FIeg Jrpr 5 |

(1232 (1Y)
Carbon monoxide gas is more dangerous than carbon dioxide gas. Explain the
reason.
(See Lesson-32)
5. RS e (30 (@RI 9h e Ted @ 100-150 *TAd 0P 4

Answer any one out of the following questions in about 100-150 words.
(a) (T S AG© AEFIBC HAFR(PT AOFACE IIT© 2T, IR 32T T IRFT AR -

JYT T | (AA15-16 CTY)
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Froth flotation is used for the concentration of sulphide ores because it is a highly
effective method. Explain. (See Lesson-16)

(b) g AT NCE (ST 21 o7 2TOTPH B T3 -
(i) SfER RTee omafs
(ii) A= AT AT (A12-16 CTY)
Describe the underlying principle of each of the following metal refining methods:

(1) Electrolytic refining of metals.
(i1) Vapour phase refining of metals. (See Lesson-16)

() feod eerah o bz T ;
(i) PrTeR S3e 2300 PRTSR WFHE NaCN 93 I92F
(ii) R ST 2300 SR WEHCS S35 I (5115-16 CTL)
Identify the role of each of the following:

(1) NaCN in the extraction of silver from a silver ore.
(i1) Cryolite in the extraction of aluminium from pure alumina. (See Lesson-16)

6. [0 (e A SFCH 0P AP 955 T Fet: 6
Prepare any one of the project out of two given below.

(a) T QIRE QIR AT FRIIR SICT G TR CAICET | & @ Z0a AR G Sisita
A SIS Ot O | *20e ST S 7 | T T BIZTC 8 (TS (oI
g STIRBTETRT YA 7 | AT ST ALYF 912 SR 12 T A= AR | -
(i) IR AT IR et Jrr 21 |
(i) AT 8 SPAfRE 7w o1 @ferg ez e
(iii) & 12w i CACaR 1 |
(iv) CAIRIET SR FATF Jofeq) 3o |
(v) ST SACACS NG SfeG I T 2= (T8N 2T — P I 36|
(vi) BT CIRRIIET CRIIT HICF JCeT 2 (A12-30 (1Y)

The students from Class XII visited a nearby village as part of a group excursion. Rural
and urban environments differ significantly from one another. In urban area, there is a
lot of pollution. Peoples are suffering from cough, typhoid, and dengue diseases but in
rural area people are healthy. There are a large number of trees in rural area therefore
Environment is clean.

(i) Explain the main reasons of air pollution.

(ii) Identify primary and secondary pollutants.

(iii)  Name two water borne diseases.

(iv)  Ilustrate the global warming.

(v) It is advisable to switch off engine of vehicle at red light, explain with reason.
(vi) Define photochemical smog. (See Lesson-30)
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(b) Fh FANGY FER GG 75 S (R Fme oy SR ¢ REmor 7yt 3w
AR, fof AT @ JYHMF WX GFh G ST FE= | O 713 et [efy
TE (T GIF FC FER A RG] 6T 992 [PEs Fit7 @ FrEed Q-9 S8 AN
G 2T T QA (AN — 2, AP, 7Y 2031 | FFICT SO DS S R YLD
R-RIAR A FIRFATA ST FICI | & TP 9- T SR T 0T T
TG SNCACT FACE G 5] FACEW ZIG ZAIHS TEJ &T0 20X |
TG S1H S0 FChe el Teg .-

() S I i 9 PN G 0T e |

(i) 92 RO FSIE 93 T TFI(F oS! (O IO AR |

(i) SUIRI R G Rt (FPIRT S0 90T o1 |

(iv) SIRIEG @R oy 8 tofics Mt (7 3y 39219 23 O =11 forg |
(A13-30 CTY)

Principal of a reputed school, observed the growing cases of diabetes and depression
among young children, organized a seminar in which he invited parents and
principals. All of them resolved this issue by banning junk food in schools, and
introducing healthy snacks and drinks, such as soup, lassi, and milk in the school
canteens. As part of the morning assembly, the students will be required to participate
in half an hour of physical activity. Six months later, Principal conducted a health
survey in most of the schools, and discovered that the health of the students had
greatly improved.

After reading the above passage, answer the following questions:-

(1) Describe two values exhibited by Principal.
(i) As a student, how can you raise awareness of this issue?
(ii1) Explain anti-depressant drugs with the help of an example.

(iv) Name the sweetening agent used in the preparation of sweets for a diabetic
patients. (See Lesson-30)
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IR

BIOLOGY
(314)
RESAFEICRG IRl

Tutor Marked Assignment
Sfefare: 20
Max. Marks: 20

Rems (i) 1% A0 TG (NS IFOIETS | G AT &f 41 5 2T S0 (e TR |

Note: All questions are compulsory. The marks allotted for each question are given at same
place.

(ii) TG ST LA FBIT A W, GGG 754, I5IC GFOI @92 [0 A1 Syl w9t |

Write your name, enrolment number, Al name, and subject etc. on the top of the first

page of the answer sheet.

1. el el (0 (1 @i @3 2es T8t e 40-60 =0 J0Y; 2
Answer any one of the following questions in about 40-60 words:

a) CRICMATRIE Qe (F (differential reproduction) qfb 41T FTT 5o |

(A0 — 1 C74)

Explain the term differential reproduction in two steps. (See Lesson-1)
b) el erfeler Tty 9o T AT il T :
Give any one point of difference between the following:-

i (1) NIRRT e Siefow s v | (1D — 4 (L)
Prophase of Mitosis and that of meiosis. (See Lesson-4)

i, MBEER SyRIcEe 71 ¢ MR SyHices [ 71 | (15 — 4 (W)
Mitotic Anaphase and Anaphase I of Meiosis. (See Lesson-4)

2. (AR epefer (AE (1 (Il @ A0 Ted M 40-60 *CAS N0 2

Answer any one of the following questions in about 40-60 words.

a) AT MR oD 4171 281 FeTIPIF (8= (tubular secretion), So-2ARTRA (ultra-filtration)
938 fRIb=efa CHIRel (selective absorption).
(i) SRS o1 @feT FoF AP (=1
(if) JCHS WCP (A 2 o 4191 724G 2 (3P I ST FI e |
(5110 — 14 (T)
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The three steps of urine formation in humans are Tubular secretion, ultra-filtration and
selective absorption.
(1) Write them in the correct sequence of their occurrence. (See Lesson-14)
(i) Name the microscopic parts of the kidney where each of these steps occurs.
(See Lesson-14)
b) 9T (FICP S2HABP T T FZROHeT A (o1 2 @3 (FRGCT RGN 70 s

FACET I DY (15 — 8 (W)

Why does a cell remain stable when placed in isotonic solution? What happens to it if placed

in a hypotonic solution? (See Lesson-8)
frfefe el (A0 (T (I 9B S0 TS e 40-60 *TA JCY: 2

Answer any one of the following questions in about 40-60 words.
a) 72 I (N2 AT GF AT (F HNCGerd FFI 0T Wi SRR |

()  SIE PR Pl (F e IR G GIh e siafoq s/ e «3e aifewba
TAGAT PCR- @3 & DNA 7 O3 2ffSffor (90 2realg SR ed A%

e |
(15— 22 (TY)
(if) GFE IS GICGIE Qo TS FCH | A QeI AL I O F 2
(5110 — 24 (T%F)

Two men were claiming to be the father of a child named Mohan.

(1) Suggest to them a conclusive method to identify the real father and name the
enzyme required to make copies of a piece of DNA for PCR required in the
process.

(i) A farmer is growing transgenic cotton. How is it different from the ordinary
cotton? (See Lesson-24)

b) () O TR G2 Fh SR FER AR OE (I SR AT wfe| 2o eff e ww
B0 G2 (IR 574 207 2

() T RICT 6 TRo =T 2 (AT — 13 (TY)

(1) You ate a meal comprising pulses (dal) and chapatis (roti). In which parts of the
digestive system would their digestion begin, and be completed?

(i1))  Also name the end products. (See Lesson-13)

fTRiee el (A0 (T (I 936 2Tas Teg [ 100-150 *TA 0 4

Answer any one out of the following questions in about 100-150 words.

(i) B0 (2R ALCIHC HATSH @R 5= (A ©F @lor SiReT 713Ge RFelcrs oy

AT 0] 5 | (7115 — 16 CT4)
(i)  Sfeud et FeA BT & ARCGITT-9F AT (5115 — 9 (ML)
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(1) Describe the role of thin, and thick muscle fibres in the contraction of a striated
muscle as explained by the sliding filament theory. (See Lesson-16)

(i1) All tissues of plants require Nitrogen? (See Lesson-9)

b) () PR AT FCA @32 2RERCAT (1 (A @b Sfew agel I¢a 2
(12— 9 CT4H)
() TS Aol GRS (o O e S+ A AISCHICS R FCR ACAT FCF |
(A1 — 10 (1Y)
(1) In which ionic form is it taken up by plants, and from where in the environment.
(See Lesson-9)
(i1) Mention any five organic biomolecules, which they synthesize using the
nitrogen. (See Lesson--10)
e emafe (A0 (T I G 2es T8 e 100-150 *CAe T 4
Answer any one out of the following questions in about 100 to 150 words.
a) G) iz Sweof Aoicet 5 ffa RPN (T T @32 AP 45 ffa bt 2@
(@S T, @ M (qeed oeEiar 37 e GrefmieT e 2, e o 73
O AT ?

(i)  TARA TR 2 IR AR (RINeBhb) el e 1 v Ay Rose
| (15 — 17 C(1Z7)

(1) The temperature in Delhi falls to even 5°C in winter and may go up to 45°C
during summer but our body temperature remains at 37°C. How do we make it
possible?

(i1) Define the concept of homeostasis using the above example in a sentence or
two. (See Lesson-17)

b) (i) ol e, o7l Wi @ae R T CrRTCTE Oeg 9l e Preie 3 (Rl Wi |
(A1 — 19 (TYF)

(i) 93 GERICS T (FIBR G 7 9% 8 QI eeifocs F Siomian i 27 | @3
AT 2ot T3 | (15 — 18 (1)

(1) Draw a sigmoid growth curve of a plant to show lag phase, log phase and
stationary phase. Mention what happens to a plant during these phases.

(See Lesson-19)
(i1) Some wheat and rice varieties are kept at a lower temperature to flower in the

same climate. Define this process. (See Lesson-18)
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6.

5 (e 16 2FCE 0P (I 46 T T 6

Prepare any one of the project out of two given below.

a)  fAred s e il Tien Wb T | ARHICT O CET TG (T, (LT I A0
G @feT fRrE 1 T | (TR FIeR IR @02 33 @7 A (0L GIC 964 | 924
fters 9w ucre, e e, MIne 1R (AT 9ICRd AN W1, [eaiprae 15 @92
fsfeiie gl ferfoRmg Twae

A S A I o

[ S e T T = T =
LN A W NN = O

16.

17

AR W (BIN/ATE -
RS T T 13 -

et -

Nf{ -

Tl

(P BIT 2N AT -

S -

e CFTa / 2PTNC / SeTTHIE CFeg ST (3 A=) -
(T ARCECT IT 2

RAR FN

CF AT 282 F41 2CACR -

S (I Sy Kooy -

WA SR 73 I SfenT 93 I SHREE (A MRy [y vl fofora Face o= |

Collect ten plants of your choice, uproot them carefully, so that their roots are not
damaged, and press them between fullscape papers, and leave under a pile of books.

Now find out from elders, teachers, gardeners the common, and scientific names of the
plants, and record their description as follows:

S AN

Common name (Local / Hindi)
Scientific name

Description:

Roots

Stem

Leaves

Inflorescence

Flower
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9.
10.

11.
12.
13.
14.
15.
16.
17.

Fruit
Seed

Habitat

Adaptations

Utility/value - medicinal / cosmetic / ornament
Season when growing

Collection site

Month when collected

Any other notable characteristic feature.

You may use your book or botany book or internet to describe types of the above

mentioned parts

b) SR ST T SRR SN (RIT Sl (]I N P (F (I GFG-93 FCOT 8 24T FCO!
(SR O el B AT AN o1 o | Teferes st Qb | 30 SAE f A S
Rt SHCS Al FICE ooy @ 1 & |

FA | I T RGeS CIEOIER T
1. fere JBCw At 2yl /1 2yl /1

2. ST (R0 YOS AT

3 IS &0 Y& Al &

1.

G fF 2 IS TR T I T Fo1F for [ S 311 N I (A
GTCR G2 OFF S T G fs 16 feTw1 SIS (AT I 7 T3] S Ao
P 992 I ©13 ([ HIRaF SeRaR 3T 2/fieFe SR @bl (MR- &

OFh IHRA 516 I |

AT &) SR FRIT (A CATCRA 1 T CACE CAACRA, @7 HACF e Mo oy -

QIR AN | G AR A e | e | e

CATF A2ER F3)

TGN GIF

Session 2022-23 (Biology 314)

Page -5




Take photographs (or draw Portrait or write name) of one of your parents or siblings
and yourself. Stick them close to each other. Now below each photograph enter the

following:
Inherited Feature Father/Mother/Brother/Sister Yourself
1. Whether can roll tongue Yes/No Yes/No
) Whether can flex thumb
) backwards
Whether earlobe free or
3.
fixed

Write down the following

1. What is genetics? Write the meaning of inheritance
ii.  Draw a Pedigree Chart to show inheritance of any of the characters studied in you

and your siblings.

iii. Comment on whether you got the gene from the father or mother, and write a
sentence as an evidence for the same.

Name of | Name of Patient | Age Symptoms | Causative | Mode
Common | (Get from the clinic Organism | of Transmission
disease or patient)

1.

2.
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History (315)

ferms fofer Jegiam Aig

Tutor Marked Assignment
SofTI=: 20
Max. Marks: 20

Rw () T 2R S8 (S AP | TG 2T G 41 =7 2T AT (e T |

Note: All questions are compulsory. The Marks allotted for each question are given
beside the questions.

(ii) TS S AT YR AN I, GHCHICTE 54, WG GFOI @92 R A% SeEe
A |

Write your name, enrolment numbers, Al name, and subject on the first page of
the answer sheet.

1. e gmaf (e (I 9l 2t ©ee M 40-60 =05 JCY: 2
Answer any one of the following questions in about 40-60 words.
a)  SICAICR MG QPP G AT SN I F2ee7 | (AA13-5 (TZ)
Examine the role of Dhamma for consolidation of Ashok Empire. (See Lesson-5)
b)  750-1000 fAPBICH fa*ifer A2l Faeia e Sl T3 | (AA15-8 CTZ)

Mention the causes of conflict between the three powers during 750-1000 AD.
(See Lesson-8)

2. (RS emaf (At (7 @I 9 A0 Tad T 40-60 *THE ACY: 2

Answer any one of the following questions in about 40-60 words.

a) TG P S T0 R0y wgs)el (e ©f iyl Fee | (AA15-26 (T4)
Analyse the reasons why it is important to have an equitable global distribution of
wealth? (See Lesson-26)

b)  AREE MG (A FOI Ol T AF I FST GBI O PRdeE S
T | (A1-29A (W)
How transition took place from early kingdom to a well-developed state system?
Examine the causes. (See Lesson-29 A)

3. RS el (A0F (I I 9 2ts Ted M= 40-60 M0 WY 2

Answer any one of the following questions in about 40-60 words.
a) TGellFE I 2 e JER W 6 dfeers | Rl gy
Syl (A19-27 (1Y)

Session 2022-23(History 315) Page - 1



Socialist system is the most prominent opponent of capitalist system. Comment on this
statement. (See Lesson-27)

(b) IR AFMER 2O g @ RS (AW 2CO PIE (S SR @ ARSI

SIS @7 AT 390 F RS | SRS LRI FSI LT AFCETH oo I CiRet cet
Siiffe A I 2 (A19-15 (M%)

Even though the downfall of the Mughal Empire has been assigned to the later
mughals, but the seeds had already been sown during the reign of Jahangir and

Shahjahan itself. How do you think the later mughals led to the decline of the
Mughal Empire? (See Lesson-15)

4. (RS gmaf (At (@I 9 A0 e M 100-150 =0 JCY: 4
Answer any one of the following questions in about 100-150 words.
a) A 2% YCoR @ 9 A YU AR M0y ACEI Srare 9 |
(*f18-2 CT3F)

Differentiate between the tools of the Paleolithic and Neolithic period.
(See Lesson-2)

b) SRS REe SO N widtafos Nfow Ao FEpRe e |
(A12-17 (T4)

Assess the impacts of British Economic Policy on Indian industries.
(See Lesson-17)

5. fA=fafe emafe (At (T @I @b 209 Ted e 100-150 *TAS S0 4

Answer any one of the following questions in about 100-150 words.
a)  Slslore e wferq 0o ies Seroi AEICes AF i S |

(A12-11 (1)
Examine the relations between the regional states, and the Delhi Sultanate.
(See Lesson-11)

b) R S BTN FIRACR IR @fer Srizgel 717 it w6 |

(#119-22 (1)
Examine the factors leading to urbanization during 20th century in Europe. State
with examples. (See Lesson-22)
6. [NCF 98 (T (A 43 &7 (O 1 : 6

Prepare any one project out of the given below:
a) [N OIS @2 TEAN T FIFAL SRF Pol Fe1 | 91 [ @98 1 o 2 o
SRR GHNOF G SN (FI ANCTHF SRR AN (I 2 (19-13 (TZ)

Compare the condition of the farmers in British India, and in the present times. Is it
same or different? What steps would you suggest to improve their condition?
(See Lesson-13)
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b) b 3fSEPRMnE 717t 9o [RST @07 BT SHAMIR @ Sifere! (o w64 |
(A12-1 C(TZ)

Make a list of various types of source material used by ancient historians.
(See Lesson-1)

qoligP G-

Archaeological Sources

Afefore T

Literary Sources

I G-

Foreigner’s Account

Al Bl S e

A el S e

Al I e
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1. w:

Note:

oAl
Geography
(316)
s foferw Sepam =iq
Tutor Marked Assignment
SfTI: 20
Max. Marks: 20

(i) TG AT TG (ST GO | NG LT &g 41T =7 T 20T (e A |

All questions are compulsory. The marks allotted for each question are given
beside the questions.

(il) TOF ACH 2T B ST T, GG 75, IS PO 992 Racaw A% Sea

54|

Write your name, enrollment numbers, Al name, and subject on the first page of
the answer sheet.

1. =fofe exefe (2 @ @I a3 940w ©ed M 40-60 *IT3F Y 2

Answer any one of the following questions in about 40- 60 words.

(a)

S92 2l EA M g7l QP TR - CfShe F20F b Tl S v |

(P10-2 (WZ)
‘Human plays significant role in weathering.” Give any two reasons in support of
your view. (See Lesson-2)

(b) SIS GETIIT Cl AT G (AT qlb St i 31 afolh efwet ot @di (vea (3
&7 @B FCF e 74 | (A15-7 (W)
Identify any two types of landforms found in your area. Write any one point for
formation of each landform. (See Lesson-7)

2. (RS eMafy (At (7RI 9 A0 e M 40-60 *TAE ACY: 2

Answer any one of the following questions in about 40- 60 words.

(a) NS GRS SARBST Tt JRA7CIT T F 4907 G611 T AT ? G (F
(I 15 R ST T | (A19-9 (W)
What will happen on the Earth’s surface in the absence of water wapour ?” Give any
two points. (See Lesson-9)

(b) SR GSF AT (T2 @ T SrorE T FARE St ol Y, O S F geiE
ST SIS FHAN G2 (e A 2 (A12-11 (A%)
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If Isobars are closely found in your area, then what kind of climatic conditions would
you feel, and why? (See Lesson-11)

3. fA=ffe emafe (Ate (@ FIE @b 2089 Ted e 40-60 *T3E 0y 2

Answer any one of the following questions in about 40-60 words.

(a) “IRBATST WefeTd FHA Ty FACT (A A (T, TR Sreeet (A (N S=p0ere e
IBATS @t 3131 SR TfEH AT (T (I 9 FI 91 T |

(A12-12 (T4)

‘There is a general reducing pattern found in the regional distribution of precipitation
from equator to pole.’ Justify the statement by giving any two points.
(See Lesson-12)

(b) S 5JC2 ST NS T2 ofe F0a 9l ApeieT efgo e | weif fFeits & 2y

GICET A & 2 (A19-14 (1Y)

Prepare a food web on the basis of the organism available in your house. How are

you connected to this food web? (See Lesson-14)
4. RS dmaf (A (I 9 h 20 ©6d e 100-150 *TA MCY: 4

Answer any one of the following questions in about 100 -150 words.
(a) [Roro 02 920 eEbe APIAT 1f 2fiFfod [eER Wbl e F- @92 93 {7 e
I 3T PR | 92 2RI RS (eI w95 Soir o 9 |
(A13-18 (TL)

Identify any two natural disasters occurred in India in last two years, and give the
reasons of their occurrence. Suggest two measures to control these disasters.

(See Lesson18)
(b) FOFGIT TP TLE SRCST AP HICI S0 {1t HR41 32 Feawe Sfehe 7 vl
Y& Qe 46 | (A12-19 (AL)

‘The favourable conditions for fisheries in India create a large scope of it’s
development.’ Justify the statement by giving any four arguments. (See Lesson-19)

5. fA=fafe emafe At (7 @IE @b 2409 Tt e 100-150 *THF N0 4

Answer any one of the following questions in about 100 -150 words.

(a) PRI GEFI AT (TS 8 QI (AT Gy 5 470 sl AE 39219 T4 T A

35 | (AA13-29 (T4)
Identify that what kind of building materials are used for walls, and roofs in your
area. (See Lesson-29)

(b)  “FRIT FPIUT LG fefgs JI2R SANSTOI AR - T FACH TAY@ Suizgel
e | (A1-30A (W)

‘Need based utilisation of local resources is economically sustainable.” Justify the
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6.

statement with suitable examples. (See Lesson-30A)

fAaferiie 7 @few Sy (A (@ @I 93 h [ T 269 o9e F94 ¢ 6

Prepare any one project out of the given below:

(a)

(b)

AR G Tferan SARRRCTR NG TS T G AT S @ ST NG 2T

9Fl SIfeTe! 2[Fo Feea | G2 AR @ ARSCIANAT % SMIPCAH AN SICABAT Feoed G2
(G i SEICS ST (T &I AR I FACSA | SANE TP T fofa
I T QP 2RI A0 AR (T 2RO 207 OF &9 @ AAFIoG oFo

35 | (A19-25 (T4)

Conduct a survey on the modes of transportation available in your area and make a
list of the available modes. Now, discuss with the elders of your family or
neighbourhood, and find that what kind of transportation they were using earlier. On
the basis of your findings, prepare a report on the changing pattern in transportation
facilities of your area. (See Lesson-25)

ANG ARKA TP S21E GeTiw1a 10 T ARRICT Sofg Gl TA551 Py G2 STl FCH

COCA i TR (AT JEI (PN (I S P2 PR |

Conduct a survey of atleast 10 households in the given format to find out that what
mode of communication they are using.

BIERIET CAMNTAICAE N Means of Communication

Family | cop% | (Bferce | (ii3et | (2foe | Bfe | Breast [ sicamsig | 303e] | Sty

wifp | Telephone | Mobile Radio | TV Cinema | Newspaper | Email | Others

Post
Office

ST T G0 (HBI Fbel (F (I I CACF AR @fe7 Ao G2 AT Mg JI2
FACRA | I SPIRAICE 324 S8 T3 AN GeTpIa (AT JIF (T ARTS qCHR OF
AT G AT Aq 2GS F |

(AA19-25 (M%)

Try to find out that since then they have started using these modes of communications.
On the basis of your finding prepare a report on the available modes of communication
and its changing pattern. (See Lesson-25)
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EIEISEan
Political Science
(317)

e bfew Jepie 7ig

Tutor Marked Assignment

SofTI: 20
Max. Marks: 20

Rw () T 2R SO (ST AP | TG 2T G 41 57 TR A (e T |

Note: All questions are compulsory. The Marks allotted for each question are given beside the
questions.

(i) TS IR L B S T, NS 75, 51 GFOI @92 A 1 Szl w1 |

Write your name, enrolment numbers, Al name, and subject on the first page of the
answer sheet.

1. e gmaf (0 (I 9l 2t See M 40-60 =05 0y 2
Answer any one of the following questions in about 40-60 words.
(a) TR A TG WL T | (A12-1 ()
Identify any two safeguards of Liberty. (See Lesson-1)
(b) @IS 932 GRS GepTICeT 9 #1127 Srad T | (192 (L)
State any two distinctions between nation and nationality. (See Lesson-2)
2. RS emafr (A (I I 9 2Tas ©&e e 40-60 =045 JCY: 2
Answer any one of the following questions in about 40-60 words.
(a) ORCST M LB 9 Sy Srard F6 | (A19-5 (W)

Mention any two objectives of the preamble of the Indian constitution.
(See Lesson-5)

(b) o et S TR ATREe! REIRS SiI Srare I3 | (AA15-6 CTZT)

Elaborate limitations to the office of the Chief Vigilance Commissions.

(See Lesson-6)
3. [ epfafer (A (T @I 9B 20 &ad M 40-60 *TH3 SCH: 2

Answer any one of the following questions in about 40-60 words.

(a) TIeifos afefig gags b S S T | (SA15-17 CTYT)
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List out any two advantages of the proportional representation system.
(See Lesson-17)

(b) REpIecsd (T (PN s SRl Srad | (A19-32 (1Y)
Mention any two functions of the World Bank. (See Lesson-32)
e emafe (A0 (T I 9l 2 T8 e 100-150 *TAe T 4
Answer any one of the following questions in about 100-150 words.
(a) SRS AEASCS GO B! JrjT F21 | (5118-22 (T%)
Examine the role played by caste in Indian politics. (See Lesson-22)
(b) ORECST 23 (FI6-9F o7 GO ST P2 | (A12-15 (A4)
Discuss original jurisdiction of the High court in India. (See Lesson-15)
i epafr (A0 (1 (RICT 9 e Ted T 100-150 *TAF JCY: 4
Answer any one of the following questions in about 100-150 words.
(a)  EHINE TACH IeT PR YT Feev | (5A15-36 (M%)
Examine the main functions of the Prime Minister’s office. (See Lesson-36)
(b) I CAeT BLF SO @ TR 1% [raras 30+ | (A19-27 (T4)
Analyze the Indo-Russian relations in the post-cold war phase. (See Lesson-27)
e et 0P (S (VT 9T 25 (O e | 6

Prepare any one project out of the given below:

(a) SR SRR A AR ool Nz T4 | @3 [RICT SoME BT FIA50F 20
G LI AL DA I G2 SIRCOF RN ST FT(F OIHI NSNS GIIF (G

354 |

Identify and account constitutional awareness of the people of your locality. Discuss with at
least 20 persons in your locality to know their opinions on the objectives of the Indian
Constitution. Use the table given below:

Ghe, | e SRCST AR Sy | SiRCo7 AR Sy
S1. No Name of Person Objective of the Indian TAE TIR;C?RI sfsfear
constitution
People response on
objectives of the Indian
constitution
1
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MRS -3 “AfCeifFFre Prars el W.T—a[l (AA13-5 CHE)

On the basis of this information draw your conclusions. (See Lesson-5)

(b) 7HE 2SR FT & SARRIET To G H AN T @32 0T SaER© SPF ToR) fofe 3
5 R 2rgs e |

Undertake a survey of 20 families of your neighborhood, and make two headings on the
basis of below given information.

i) SEred MRS SR TP NRIHFICTE 9 Oifers! 2go w9 |

Make a list of major human rights available to citizens as per the Indian constitution.

(i)  SHCod HRLIT forfoirg TR B S Gl (T BICECER JCAHR 2|

Challenges faced by people in the realization of the major human rights listed in the

constitution.
I NI Olfere! IY SIS
List of Major Human Rights Major Challenges
FAFR T [efg 303 Prars a2 3% | (AA15-25 (1Y)
On the basis of this survey draw you conclusions. (See Lesson-25)
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